
=LPDB����

3UDFRZQLN�5R]NãDG���GU�3LDVHFNL�0LFKDã��7\J������

�������������7\G]��

7HUPRG\QDPLND�L�IL]\ND
VWDW\VW\F]QD��Z��GU
3LDVHFNL�0LFKDá�$%�
����� ���)�/����1)3�
���)�/����11

�������������7\J����

0DWHULDáR]QDZVWZR��Z��
GU�3LDVHFNL�0LFKDá�$%�
����35$&2:1,$
(/(.7521,.,�,
$.867<.,����)�/����
11

�������������7\G]��

7HUPRG\QDPLND�L�IL]\ND
VWDW\VW\F]QD��NRQZ��GU
3LDVHFNL�0LFKDá�$%�
����� ���)�/����1)3�
���)�/����11

�������������7\J����

0DWHULDáR]QDZVWZR��üZ��
GU�3LDVHFNL�0LFKDá�$%�
����35$&2:1,$
(/(.7521,.,�,
$.867<.,����)�/����
11

�������������7\J��������
��

)L]\ND��Z��GU�3LDVHFNL
0LFKDá� $%���������&�/�
���:

�������������7\J��������
��

)L]\ND��Z��GU�3LDVHFNL
0LFKDá� $%���������&�/�
���:

�������������7\J����

7HUPRG\QDPLND�L�IL]\ND
VWDW\VW\F]QD��Z��GU
3LDVHFNL�0LFKDá�$%�����
���)�/����1)3�����)�/�
���11

�������������7\J����

7HUPRG\QDPLND�L�IL]\ND
VWDW\VW\F]QD��NRQZ��GU
3LDVHFNL�0LFKDá�$%�����
���)�/����1)3�����)�/�
���11

SR
QL

HG
]L

Dã
HN

�������������7\J��������
��

7HUPRG\QDPLND
VWDW\VW\F]QD�GU�3LDVHFNL
0LFKDá� $��������&�0�
���:

�������������7\J����

7HUPRG\QDPLND�L�IL]\ND
VWDW\VW\F]QD��Z��GU
3LDVHFNL�0LFKDá�$%�
�����35$&2:1,$
),=<&=1$����)�/����
1)3�����)�/����11

�������������7\J����

0DWHULDáR]QDZVWZR��Z��
GU�3LDVHFNL�0LFKDá�$%�
����35$&2:1,$
(/(.7521,.,�,
$.867<.,����)�/����
11

�������������7\J����

7HUPRG\QDPLND�L�IL]\ND
VWDW\VW\F]QD��NRQZ��GU
3LDVHFNL�0LFKDá�$%�
�����35$&2:1,$
),=<&=1$����)�/����
1)3�����)�/����11

�������������7\J����

0DWHULDáR]QDZVWZR��üZ��
GU�3LDVHFNL�0LFKDá�$%�
����35$&2:1,$
(/(.7521,.,�,
$.867<.,����)�/����
11

������
������
7\G]��

0HWRG\
PDWHPDW\F
]QH�IL]\NL
�üZ��� GU
3LDVHFNL
0LFKDá� $%
����� ���)�
0����1L1

Z
WR

UH
N

�������������7\J����

7HUPRG\QDPLND�L�IL]\ND
VWDW\VW\F]QD��Z��GU
3LDVHFNL�0LFKDá�$%�����
���)�/����1)3�����)�/�
���11

�������������7\J����

7HUPRG\QDPLND�L�IL]\ND
VWDW\VW\F]QD��NRQZ��GU
3LDVHFNL�0LFKDá�$%�����
���)�/����1)3�����)�/�
���11

�������������7\G]��

0DWHULDáR]QDZVWZR��Z��GU�3LDVHFNL
0LFKDá� $%�����35$&2:1,$
(/(.7521,.,�,�$.867<.,����)�/����
11

�������������7\G]��

0DWHULDáR]QDZVWZR��üZ��GU�3LDVHFNL
0LFKDá� $%�����35$&2:1,$
(/(.7521,.,�,�$.867<.,����)�/����
11

ĤU
RG

D

�������������7\J����

0DWHULDáR]QDZVWZR��Z��
GU�3LDVHFNL�0LFKDá�$%�
����35$&2:1,$
(/(.7521,.,�,
$.867<.,����)�/����
11

�������������7\J����

0DWHULDáR]QDZVWZR��üZ��
GU�3LDVHFNL�0LFKDá�$%�
����35$&2:1,$
(/(.7521,.,�,
$.867<.,����)�/����
11

�������������7\J����

7HUPRG\QDPLND�L�IL]\ND
VWDW\VW\F]QD��Z��GU
3LDVHFNL�0LFKDá�$%�����
���)�/����1)3�����)�/�
���11

�������������7\J����

7HUPRG\QDPLND�L�IL]\ND
VWDW\VW\F]QD��NRQZ��GU
3LDVHFNL�0LFKDá�$%�����
���)�/����1)3�����)�/�
���11F]

Z
DU

WH
N

�������������7\J��������
�

0HWRG\�PDWHPDW\F]QH
IL]\NL��üZ���GU�3LDVHFNL
0LFKDá� $%�����
35$&2:1,$
),=<&=1$����)�0����
1L1

�������������7\J����������

)L]\ND��ODE��GU�3LDVHFNL�0LFKDá�$%�
���� ���&�/����/

�������������7\J����������

)L]\ND��ODE��GU�3LDVHFNL�0LFKDá�$%�
���� ���&�/����/

�������������7\J����

7HUPRG\QDPLND�L�IL]\ND
VWDW\VW\F]QD��NRQZ��GU
3LDVHFNL�0LFKDá�$%�����
���)�/����1)3�����)�/�
���11SL

ĈW
HN

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3UDFRZQLN�5R]NãDG���GU�3LDVHFNL�0LFKDã��7\J������

�������������7\J����

7HUPRG\QDPLND�L�IL]\ND
VWDW\VW\F]QD��Z��GU
3LDVHFNL�0LFKDá�$%�����
���)�/����1)3�����)�/�
���11

�������������7\J����

0HWRG\�PDWHPDW\F]QH
IL]\NL��üZ���GU�3LDVHFNL
0LFKDá� $%�����
35$&2:1,$
),=<&=1$����)�0����
1L1

SL
ĈW

HN
6

R
1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


